
� No.254Q約両方-5-1 �

No.254Q約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 494.97÷ 0.57 (2) 3519.8÷ 9.6

(3) 41337÷ 9.4 (4) 83.703÷ 0.96

(5) 12.479÷ 0.21

� 13th-note �



� No.254Q約両方-5-1 �

No.254Q約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 494.97÷ 0.57
868
868.3 · · ·

(2) 3519.8÷ 9.6
367
366.6 · · ·

(3) 41337÷ 9.4
4400
4397 · · ·

(4) 83.703÷ 0.96
87.2
87.19 · · ·

(5) 12.479÷ 0.21
59.4
59.42 · · ·

� 13th-note �



� No.254Q約両方-5-2 �

No.254Q約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 43.375÷ 0.66 (2) 1998.8÷ 8.9

(3) 44.159÷ 0.71 (4) 770.6÷ 0.21

(5) 12872÷ 8.6

� 13th-note �



� No.254Q約両方-5-2 �

No.254Q約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 43.375÷ 0.66
65.7
65.71 · · ·

(2) 1998.8÷ 8.9
225
224.5 · · ·

(3) 44.159÷ 0.71
62.2
62.19 · · ·

(4) 770.6÷ 0.21
3670
3669 · · ·

(5) 12872÷ 8.6
1500
1496 · · ·

� 13th-note �



� No.254Q約両方-5-3 �

No.254Q約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 289.32÷ 0.56 (2) 543.62÷ 0.91

(3) 31.992÷ 0.37 (4) 27.016÷ 0.63

(5) 443.7÷ 0.14

� 13th-note �



� No.254Q約両方-5-3 �

No.254Q約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 289.32÷ 0.56
517
516.6 · · ·

(2) 543.62÷ 0.91
597
597.3 · · ·

(3) 31.992÷ 0.37
86.5
86.46 · · ·

(4) 27.016÷ 0.63
42.9
42.88 · · ·

(5) 443.7÷ 0.14
3170
3169 · · ·

� 13th-note �



� No.254Q約両方-5-4 �

No.254Q約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5327÷ 4.3 (2) 5287÷ 2.1

(3) 139.92÷ 0.27 (4) 181.08÷ 0.69

(5) 103.56÷ 0.92

� 13th-note �



� No.254Q約両方-5-4 �

No.254Q約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5327÷ 4.3
1240
1238 · · ·

(2) 5287÷ 2.1
2520
2517 · · ·

(3) 139.92÷ 0.27
518
518.2 · · ·

(4) 181.08÷ 0.69
262
262.4 · · ·

(5) 103.56÷ 0.92
113
112.5 · · ·

� 13th-note �



� No.254Q約両方-5-5 �

No.254Q約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 26.93÷ 0.57 (2) 45012÷ 5.2

(3) 34.407÷ 0.48 (4) 1092.4÷ 4.1

(5) 247.67÷ 0.84

� 13th-note �



� No.254Q約両方-5-5 �

No.254Q約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 26.93÷ 0.57
47.2
47.24 · · ·

(2) 45012÷ 5.2
8660
8656 · · ·

(3) 34.407÷ 0.48
71.7
71.68 · · ·

(4) 1092.4÷ 4.1
266
266.4 · · ·

(5) 247.67÷ 0.84
295
294.8 · · ·

� 13th-note �



� No.254Q約両方-5-6 �

No.254Q約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 25.94÷ 1.2 (2) 9895÷ 3.1

(3) 5.361÷ 0.43 (4) 16.341÷ 0.31

(5) 525.27÷ 0.66

� 13th-note �



� No.254Q約両方-5-6 �

No.254Q約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 25.94÷ 1.2
21.6
21.61 · · ·

(2) 9895÷ 3.1
3190
3191 · · ·

(3) 5.361÷ 0.43
12.5
12.46 · · ·

(4) 16.341÷ 0.31
52.7
52.71 · · ·

(5) 525.27÷ 0.66
796
795.8 · · ·

� 13th-note �



� No.254Q約両方-5-7 �

No.254Q約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 2532.3÷ 3.9 (2) 14158÷ 1.8

(3) 6558.7÷ 7.1 (4) 3875.8÷ 8.9

(5) 276.11÷ 0.49

� 13th-note �



� No.254Q約両方-5-7 �

No.254Q約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 2532.3÷ 3.9
649
649.3 · · ·

(2) 14158÷ 1.8
7870
7865 · · ·

(3) 6558.7÷ 7.1
924
923.7 · · ·

(4) 3875.8÷ 8.9
435
435.4 · · ·

(5) 276.11÷ 0.49
563
563.4 · · ·

� 13th-note �



� No.254Q約両方-5-8 �

No.254Q約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 403÷ 1.2 (2) 39.534÷ 0.48

(3) 64800÷ 7.7 (4) 34.499÷ 0.83

(5) 58.658÷ 0.68

� 13th-note �



� No.254Q約両方-5-8 �

No.254Q約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 403÷ 1.2
336
335.8 · · ·

(2) 39.534÷ 0.48
82.4
82.36 · · ·

(3) 64800÷ 7.7
8420
8415 · · ·

(4) 34.499÷ 0.83
41.6
41.56 · · ·

(5) 58.658÷ 0.68
86.3
86.26 · · ·

� 13th-note �



� No.254Q約両方-5-9 �

No.254Q約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 234.88÷ 5.6 (2) 59848÷ 7.3

(3) 80.608÷ 0.99 (4) 42350÷ 5.7

(5) 758.12÷ 8.9

� 13th-note �



� No.254Q約両方-5-9 �

No.254Q約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 234.88÷ 5.6
41.9
41.94 · · ·

(2) 59848÷ 7.3
8200
8198 · · ·

(3) 80.608÷ 0.99
81.4
81.42 · · ·

(4) 42350÷ 5.7
7430
7429 · · ·

(5) 758.12÷ 8.9
85.2
85.18 · · ·

� 13th-note �



� No.254Q約両方-5-10 �

No.254Q約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 8776.9÷ 0.88 (2) 41536÷ 8.1

(3) 73.831÷ 0.99 (4) 2157.7÷ 3.6

(5) 19.391÷ 0.68

� 13th-note �



� No.254Q約両方-5-10 �

No.254Q約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 8776.9÷ 0.88
9970
9973 · · ·

(2) 41536÷ 8.1
5130
5127 · · ·

(3) 73.831÷ 0.99
74.6
74.57 · · ·

(4) 2157.7÷ 3.6
599
599.3 · · ·

(5) 19.391÷ 0.68
28.5
28.51 · · ·

� 13th-note �


